MUSICAL NUMBERS FOR
ALL OCTAVES

outs03)= FOR MUSICAL NUMBERS

outjs04- ALL OCTAVES

Here is a notebook to calculate the musical Numbers for any octave length and 2 - 44 partitions of that octave.

ins0s;= oct = 11

outso5= 11

nsos- eqtwo = Table[N[oct” (y/2)], {y, 1, 2}]
outso6= {3.31662, 11.}

nsor- eqthree = Table[N[oct” (y/3)], {y, 1, 3}]
ourso7- {2.22398, 4.94609, 11.}

nsos)= eqfour = Table[N[oct~(y/4)], {y, 1, 4}]
outsos= {1.82116, 3.31662, 6.04011, 11.}

insog)= eqfive = Table[N[oct”~ (y/5)], {y, 1, 5}]

outso9l= {1.61539, 2.6095, 4.21537, 6.80948, 11.}

ns10- €qsix = Table[N[oct” (y/6)1, {y, 1, 6}]
ousio- {1.4913, 2.22398, 3.31662, 4.94609, 7.37611, 11.}

nsi1- eqseven = Table[N[oct”r(y /7)1, {y, 1, 7}]
ousiil= {1.40854, 1.984, 2.79455, 3.93624, 5.54437, 7.80948, 11.}

nsiz- eqeight = Table[N[oct” (y/8)], {y, 1, 8}]
ousiz)- {1.3495, 1.82116, 2.45766, 3.31662, 4.4758, 6.04011, 8.15114, 11.}

nsia- eqnine = Table[N[oct” (y /9)], {y, 1, 9}]
ousiz= {1.3053, 1.70381, 2.22398, 2.90296, 3.78923, 4.94609, 6.45613, 8.42718, 11.}

wsi4- eqten = Table[N[oct” (y/10)], {y, 1, 10}]
ousia- {1.27098, 1.61539, 2.05314, 2.6095, 3.31662, 4.21537, 5.35766, 6.80948, 8.65473, 11.}
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egeleven = Table[N[oct”(y/11)], {y, 1, 11}]

{1.24358, 1.54648, 1.92316, 2.3916, 2.97413,
3.69856, 4.59943, 5.71974, 7.11293, 8.84546, 11.)

eqtwelve = Table[N[octA(y,/12)], {y, 1, 12} ]

{1.22119, 1.4913, 1.82116, 2.22398, 2.7159,
3.31662, 4.05022, 4.94609, 6.04011, 7.37611, 9.00762,

eqthirteen = Table [N[oct~ (n/13), 6], {n, @, 13}]

{1.00000, 1.20256, 1.44615, 1.73909, 2.09136, 2.51499,
3.02442, 3.63706, 4.37378, 5.25974, 6.32516, 7.60639,

eqfourteen = Table[N[oct”~ (n /14), 6], {n, 0, 14}]

(1.00000, 1.18682, 1.40854, 1.67169, 1.98400, 2.35465,
3.31662, 3.93624, 4.67161, 5.54437, 6.58017, 7.80948,

eqfifteen = Table[N[oct” (n/15), 6], {n, @, 15}]

(1.00000, 1.17335, 1.37674, 1.61539, 1.89542, 2.22398,
3.59260, 4.21537, 4.94609, 5.80347, 6.80948, 7.98988,

egsixteen = Table[N[oct” (n/16), 6], {n, @, 16} ]

(1.00000, 1.16168, 1.34950, 1.56769, 1.82116, 2.11561,
3.31662, 3.85286, 4.47580, 5.19945, 6.04011, 7.01668,

eql7 = Table[N[oct” (n /17), 6], {n, @, 17} ]

{1.00000, 1.15149, 1.32592, 1.52678, 1.75806, 2.02438,
3.55898, 4.09811, 4.71892, 5.43376, 6.25690, 7.20473,

eql8 = Table[N[oct” (n /18), 6], {n, @, 18}]

{1.00000, 1.14250, 1.30530, 1.49130, 1.70381, 1.94660,
3.78923, 4.32919, 4.94609, 5.65089, 6.45613, 7.37611,

eql9 = Table[N[oct” (n /19), 6], {n, @, 19} ]

{1.00000, 1.13451, 1.28712, 1.46026, 1.65669, 1.87954,
3.53266, 4.00785, 4.54697, 5.15860, 5.85251, 6.63976,

€q20 = Table[N[oct~ (n /20), 6], {n, @, 20} ]

{1.00000, 1.12738, 1.27098, 1.43288, 1.61539, 1.82116,
2.05314, 2.31466, 2.60950, 2.94189, 3.31662, 3.73909,
4.75232, 5.35766, 6.04011, 6.80948, 7.67686, 8.65473,

eq21 = Table[N[oct”~ (n /21), 6], {n, @, 21}]

{1.00000, 1.12096, 1.25655, 1.40854, 1.57892, 1.76991,
1.98400, 2.22398, 2.49299, 2.79455, 3.13257, 3.51149,
4.94609, 5.54437, 6.21501, 6.96678, 7.80948, 8.75412,

11.}

9.14714,

2.79455,
9.26846,

2.60950,
9.37490,

2.45766,
8.15114,

2.33104,
8.29614,

2.22398,
8.42718,

2.13236,
7.53290,

4.21537,
9.75715,

3.93624,
9.81302,

11.0000}

11.0000}

3.06185,
11.0000)

2.85502,
9.46903, 11.0000}

2.68416, 3.09077,
9.55288, 11.0000)

2.54089, 2.90296, 3.31662,
9.62803, 11.0000}

2.41920, 2.74461, 3.11380,
8.54619, 9.69578, 11.0000)

11.0000}

4.41237,
11.0000)
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eq22 = Table[N[oct” (n/22), 6], {n, 0, 22}]

{1.00000, 1.11516, 1.24358, 1.38678, 1.54648,
2.14463, 2.39160, 2.66701, 2.97413, 3.31662,
5.12909, 5.71974, 6.37841, 7.11293, 7.93203,

eq23 = Table[N[oct”~ (n /23), 6], {n, @, 23}]

{1.00000, 1.10988, 1.23184, 1.36721, 1.51744,
2.30263, 2.55565, 2.83648, 3.14816, 3.49410,
5.30209, 5.88471, 6.53135, 7.24905, 8.04561,

eqs24 = Table[N[oct” (n/24), 6], {n, @, 24}]

{1.00000, 1.10507, 1.22119, 1.34950, 1.49130,
2.22398, 2.45766, 2.71590, 3.00127, 3.31662,
5.46579, 6.04011, 6.67476, 7.37611, 8.15114,

eqs25 = Table[N[oct” (n/25), 6], {n, @, 25}]

{1.00000, 1.10067, 1.21147, 1.33342, 1.46765,
2.15400, 2.37084, 2.60950, 2.87219, 3.16132,
5.10678, 5.62086, 6.18669, 6.80948, 7.49497,

eqs26 = Table[N[oct” (n/26), 6], {n, @, 26} ]

{1.00000, 1.09661, 1.20256, 1.31874, 1.44615,
2.29341, 2.51499, 2.75797, 3.02442, 3.31662,
5.25974, 5.76790, 6.32516, 6.93625, 7.60639,

eqs26 = Table[N[oct” (n/26), 6], {n, @, 26} ]

{1.00000, 1.09661, 1.20256, 1.31874, 1.44615,
2.29341, 2.51499, 2.75797, 3.02442, 3.31662,
5.25974, 5.76790, 6.32516, 6.93625, 7.60639,

eqs27 = Table[N[oct” (n/27), 6], {n, @, 27}]

{1.00000, 1.09287, 1.19437, 1.30530, 1.42653,
2.43053, 2.65626, 2.90296, 3.17257, 3.46722,
5.40545, 5.90748, 6.45613, 7.05573, 7.71103,

eqs28 = Table[N[oct” (n/28), 6], {n, @, 28}]

(1.00000, 1.08941, 1.18682, 1.29294, 1.40854,
2.35465, 2.56518, 2.79455, 3.04441, 3.31662,
5.54437, 6.04011, 6.58017, 7.16852, 7.80948,

eqs29 = Table|[N[oct” (n/29), 6], {n, @, 29}]

{1.00000, 1.08620, 1.17983, 1.28153, 1.39200,
2.28613, 2.48320, 2.69725, 2.92975, 3.18230,
5.22639, 5.67691, 6.16626, 6.69780, 7.27515,
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.72457,
.69856,
.84546,

.68418,
.87805,
.92970,

.64800,
.66512,
.00762,

.61539,
.47956,
.24946,

.58587,
.63706,
.34127,

.58587,
.63706,
.34127,

.55902,
.78923,
.42718,

.53449,
.61317,
.50775,

.51200,
.45662,
.90228,

.92316,
.12447,
.86408,

.86925,
.30419,
.91094,

.82116,
.05022,
.95408,

.77801,
.82983,
.07990,

.73909,
.98844,
.14714,

.73909,
.98844,
.14714,

.70381,
.14116,
.20985,

.67169,
.93624,
.26846,

.64233,
.75458,
.58346,

4.59943,
11.0000}

2.07465,
4.77715,
11.0000}

2.091252,
4.47580, 4.94609,
11.0000}

1.95700,
4.21537, 4.63972,
9.99395, 11.0000}

1.90711, 2.09136,
4.37378, 4.79635,
10.0309, 11.0000}

1.90711, 2.09136,
4.37378, 4.79635,
10.0309, 11.0000}

1.86205, 2.03498, 2.22398,
4.52576, 4.94609,
10.0652, 11.0000}

1.82116, 1.98400, 2.16139,
4.28819, 4.67161, 5.08931,
10.0972, 11.0000)

1.78390, 1.93767, 2.10470,
4.07823, 4.42977, 4.81162,
9.32336, 10.1270, 11.0000}

| 3
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nsasi- €qs3@ = Table[N[oct” (n/3@), 6], {n, @, 30}]

oupses- {1.00000, 1.08321, 1.17335, 1.27098, 1.37674,
1.74981, 1.89542, 2.05314, 2.22398, 2.40904,
3.31662, 3.59260, 3.89155, 4.21537, 4.56613,
6.28639, 6.80948, 7.37611, 7.98988, 8.65473,

.49130, 1.61539,

.60950, 2.82664, 3.06185,
.94609, 5.35766, 5.80347,
.37490, 10.1550, 11.0000}

o AN R

nsae- €qs31 = Table[N[oct” (n /31), 6], {n, @, 31}]

ouss- {1.00000, 1.08042, 1.16731, 1.26119, 1.36262,
1.85672, 2.00604, 2.16737, 2.34167, 2.53000,
3.44741, 3.72466, 4.02420, 4.34783, 4.69749,
6.40088, 6.91565, 7.47182, 8.07271, 8.72193,

.47220, 1.59060, 1.71851,
.73346, 2.95329, 3.19080,
.07527, 5.48344, 5.92442,
.42337, 10.1812, 11.0000)

o TN R

nsa7i- €qs32 = Table[N[oct” (n/32), 6], {n, @, 32}]

ousar- {1.00000, 1.07781, 1.16168, 1.25208, 1.34950,
1.82116, 1.96287, 2.11561, 2.28023, 2.45766,
3.31662, 3.57470, 3.85286, 4.15267, 4.47580,
6.51011, 7.01668, 7.56267, 8.15114, 8.78541,

.45451, 1.56769, 1.68968,
.64890, 2.85502, 3.07718,
.82407, 5.19945, 5.60404, 6.04011,
.46903, 10.2058, 11.0000}

[T-JN N R

nsesi- €qs33 = Table[N[oct” (n/33), 6], {n, @, 33}]

oupses- {1.00000, 1.07537, 1.15642, 1.24358, 1.33730,
1.78838, 1.92316, 2.06811, 2.22398, 2.39160,
3.43934, 3.69856, 3.97731, 4.27708, 4.59943,
6.61441, 7.11293, 7.64902, 8.22552, 8.84546,

.43809, 1.54648, 1.66304,
.57185, 2.76569, 2.97413, 3.19829,
.94609, 5.31887, 5.71974, 6.15083,
.51213, 10.2291, 11.0000}

o AN R

nsao- €qs34 = Table[N[oct” (n/34), 6], {n, @, 34}]

ous3g- {1.00000, 1.07307, 1.15149, 1.23563, 1.32592, 1.42281, 1.52678, 1.63834,
1.75806, 1.88653, 2.02438, 2.17231, 2.33104, 2.50138, 2.68416, 2.88030, 3.09077,
3.31662, 3.55898, 3.81904, 4.09811, 4.39757, 4.71892, 5.06374, 5.43376, 5.83082,
6.25690, 6.71411, 7.20473, 7.73120, 8.29614, 8.90236, 9.55288, 10.2509, 11.0000}

nsa0p- €qs35 = Table[N[oct” (n/35), 6], {n, @, 35}]

ous40- {1.00000, 1.07091, 1.14685, 1.22818, 1.31527, 1.40854, 1.50843, 1.61539, 1.72995,
1.85262, 1.98400, 2.12469, 2.27535, 2.43671, 2.60950, 2.79455, 2.99271, 3.20494,
3.43221, 3.67559, 3.93624, 4.21537, 4.51429, 4.83441, 5.17723, 5.54437, 5.93753,
6.35858, 6.80948, 7.29236, 7.80948, 8.36328, 8.95634, 9.59146, 10.2716, 11.0000}

ns4- €qs36 = Table[N[oct” (n/36), 6], {n, @, 36}]

ouss- {1.00000, 1.06888, 1.14250, 1.22119, 1.30530, 1.39520, 1.49130, 1.59402, 1.70381, 1.82116,
1.94660, 2.08067, 2.22398, 2.37716, 2.54089, 2.71590, 2.90296, 3.10291, 3.31662,
3.54506, 3.78923, 4.05022, 4.32919, 4.62737, 4.94609, 5.28676, 5.65089, 6.04011,
6.45613, 6.90080, 7.37611, 7.88415, 8.42718, 9.00762, 9.62803, 10.2912, 11.0000}
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nse2i- €qs37 = Table[N[oct” (n/37), 6], {n, @, 37}]

oussz- {1.00000, 1.06695, 1.13839, 1.21461, 1.29593, 1.38270, 1.47528, 1.57406, 1.67945, 1.79189,
1.91187, 2.03987, 2.17645, 2.32217, 2.47765, 2.64354, 2.82054, 3.00938, 3.21088, 3.42586,
3.65523, 3.89997, 4.16108, 4.43969, 4.73694, 5.05410, 5.39249, 5.75354, 6.13876,

6.54978, 6.98831, 7.45621, 7.95544, 8.48808, 9.05640, 9.66276, 10.3097, 11.0000)

nsa- €qs38 = Table[N[oct” (n/38), 6], {n, @, 38}]

ousss- {1.00000, 1.06514, 1.13451, 1.20841, 1.28712, 1.37096, 1.46026, 1.55538, 1.65669, 1.76460,
1.87954, 2.00196, 2.13236, 2.27126, 2.41920, 2.57677, 2.74461, 2.92339, 3.11380, 3.31662,
3.53266, 3.76276, 4.00785, 4.26891, 4.54697, 4.84314, 5.15860, 5.49461, 5.85251, 6.23372,
6.63976, 7.07224, 7.53290, 8.02356, 8.54619, 9.10285, 9.69578, 10.3273, 11.0000)}

ns4- €qs39 = Table[N[oct” (n/39), 6], {n, @, 39}]

ousaa- {1.00000, 1.06341, 1.13085, 1.20256, 1.27882, 1.35992, 1.44615, 1.53786, 1.63538, 1.73909,
1.84937, 1.96665, 2.09136, 2.22398, 2.36501, 2.51499, 2.67447, 2.84407, 3.02442, 3.21622,
3.42017, 3.63706, 3.86770, 4.11296, 4.37378, 4.65114, 4.94609, 5.25974, 5.59328, 5.94797,
6.32516, 6.72626, 7.15280, 7.60639, 8.08874, 8.60168, 9.14714, 9.72720, 10.3440, 11.0000}

nsesi- €qs4@ = Table[N[oct” (n /4@), 6], {n, @, 40}]

ouses- {1.00000, 1.06178, 1.12738, 1.19703, 1.27098, 1.34950, 1.43288, 1.52140,
1.61539, 1.71519, 1.82116, 1.93367, 2.05314, 2.17998, 2.31466, 2.45766,
2.60950, 2.77072, 2.94189, 3.12364, 3.31662, 3.52153, 3.73909, 3.97009,
4.21537, 4.47580, 4.75232, 5.04592, 5.35766, 5.68866, 6.04011, 6.41327, 6.80948,
7.23018, 7.67686, 8.15114, 8.65473, 9.18942, 9.75715, 10.3600, 11.0000)

nseci- €qs4l = Table[N[oct” (n/41), 6], {n, @, 41}]

ousee- {1.00000, 1.06023, 1.12409, 1.19179, 1.26357, 1.33967, 1.42036, 1.50591,
1.59661, 1.69277, 1.79473, 1.90282, 2.01743, 2.13894, 2.26776, 2.40435,
2.54916, 2.70269, 2.86548, 3.03806, 3.22104, 3.41504, 3.62073, 3.83880, 4.07001,
4.31515, 4.57504, 4.85060, 5.14275, 5.45249, 5.78089, 6.12907, 6.49822, 6.88960,
7.30456, 7.74451, 8.21095, 8.70549, 9.22982, 9.78573, 10.3751, 11.0000)

nsa7- €qs42 = Table[N[oct” (n/42), 6], {n, @, 42}]

oups<7- {1.00000, 1.05875, 1.12096, 1.18682, 1.25655, 1.33038, 1.40854, 1.49130,
1.57892, 1.67169, 1.76991, 1.87390, 1.98400, 2.10056, 2.22398, 2.35465, 2.49299,
2.63947, 2.79455, 2.95874, 3.13257, 3.31662, 3.51149, 3.71780, 3.93624, 4.16751,
4.41237, 4.67161, 4.94609, 5.23669, 5.54437, 5.87012, 6.21501, 6.58017, 6.96678,
7.37611, 7.80948, 8.26832, 8.75412, 9.26846, 9.81302, 10.3896, 11.0000}

nsee- €qs43 = Table[N[oct” (n /43), 6], {n, @, 43}]

oufsss- {1.00000, 1.05735, 1.11799, 1.18210, 1.24990, 1.32158, 1.39737, 1.47751,
1.56224, 1.65183, 1.74656, 1.84673, 1.95264, 2.06462, 2.18302, 2.30822, 2.44059,
2.58056, 2.72855, 2.88503, 3.05048, 3.22543, 3.41040, 3.60599, 3.81279, 4.03145,
4.26265, 4.50711, 4.76558, 5.03889, 5.32786, 5.63341, 5.95648, 6.29808, 6.65927,
7.04118, 7.44498, 7.87195, 8.32340, 8.80074, 9.30545, 9.83911, 10.4034, 11.0000}
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ns40- €qs44 = Table[N[oct” (n/ 44), 6], {n, 0, 44}]

ouseo- {1.00000, 1.05601, 1.11516, 1.17762, 1.24358, 1.31323, 1.38678, 1.46446, 1.54648,
1.63310, 1.72457, 1.82116, 1.92316, 2.03088, 2.14463, 2.26475, 2.39160, 2.52555,
2.66701, 2.81639, 2.97413, 3.14071, 3.31662, 3.50239, 3.69856, 3.90571, 4.12447,
4.35548, 4.59943, 4.85705, 5.12909, 5.41637, 5.71974, 6.04011, 6.37841, 6.73567,
7.11293, 7.51133, 7.93203, 8.37631, 8.84546, 9.34090, 9.86408, 10.4166, 11.0000}



